HSI=N—YILY—ERRAEOEHSE

1. BEL=/—HILY—EXABOEREIZDOWLT

202110 A DE S#EHE (FRMDMEE) ARFJEN T LIS, 20214588 ~2021F 108 O FHRIMEEAHEEN-LELLDT,
022F1ARDEENE (EEEEY—EAME) ISEATAIHSI-N—YILY—EXRBORBEEMOELET,

2. HEHT

ONZRHERBEHRICE S HT

20214 7H ~202149A8

20214£8 8 ~20214108

EHffE S
Tty R H AR 50, 678 Akl 51,870 Akl
T OB oM AR 50, 700 M.kl 51,900 Akl

3. BRI /N—YIY—EXRBEER
XEBLZ ALY —E R ARSI RS EERATEY ET.

OftEHfticnBA
RBHEAEHE=HEL =\~ Y —ERFREM < EHEHEENE (kWh)
X % 202141284 20224184 1
TkWhi=D % A0 MO8 A 0[O0 £ 0 M9 00 £
Okl fticniBE
ABBEHEAZ=BNB LN ERRLENHBE I -~ LY —EXRABEBmOEEH
X % 202141284 20224184 1
100ETD 14TIZDE A0 M 04 ¢ A0 M 04 ¢ 0 M 00 £
100 Z200ETD 14TI=DE A0 M 10 £ A 0 M 09 £ 0 [ 01 £
200%  ZANETD 14TIZDE A0 M 20 £ AO0M17 & 0 M 03 £
o 40WE C Z60NETD 1 4TISDE A0M 27 8 A0 M 24 % 0 [ 03 £
bk 60W% = X 100WETD 1 4TI=D % A0 M 47 8 A0M 428 0 M 05 4%
100WE S 23 14TISDE5MET T LI A 0M 238 A0 M 20 £ 0 [ 03 £
50VAETO 1#%BI= D% AO0M 148 A0M 138 0 M 01 &
he |sovAzc ziooAETo 1B A0 M 27 85 A0 2488 0 M 03
100VAZ Z 7 % 1 #438I=DE50VAE TS &2 AO0M 148 A0M 138 0 M 01 &
BEBHEVAETOHE 0 M 00 £ 0 M 00 £ 0 M 00 £
BEEMNEVAZ C 2 100VAEX TOBE A 0[O £ A0 MO8 0 M 00 £
(TN [emEAI00AE S AS00VAE TOBAI0AET I LIS A0 MO0l A0 MOl 8 0 M 00 82
BEEMNE0VAZE S % 1KAETOEE A 0 [ 08 £ A 0[O0 0 M 01 &
BEEHN 1kVAZ C X SKVAETOBA 1KVAETI &I A 0 M 08 8 A0 M 07 8 0 M 01 £
ZHWEAH0.5KIDHE, 1RICDE A0 M 048 A 0 M 048 0 [ 00 £
B S EREE
ZYBEAN 1KLL EDFE, 1K1 HIZDE A0 09 £ A 0 M 08 g 0 /M 01 £

ABEEARY FU—Y HA R4




